99 o), 3 5ok 2 0] 10 14 Alo] Pol
@ 3 744

@ 4 714
® 6 7HA]



2.

A5 1 52EH 107 A =& 103
9] Wi Ei= 4. 9] W57t o= 7

@ 3 @ 5 Ol

9l
o
<

7tE SollA]

of 417

@ 45

S
o
o
g

tlo

® 90



1 oA 10 74A1 2] S22447F A7 10 2] 7F=7F it o] Zh=ofA]
FS B, 49 W B 5 ] B4 LS A9 Sk

@ 3 714 @ 4 714 ® 5 714
@ 6 714 ® 7 714



o4 20 74 9] 27k 20f 9= SAFEETR ek, o] FHE FolA
G BE w6 o] oF B 7 of W4} hE BHES

& <& oot



AFSI7E 242k Shb Qlek, AT FALS

=

Blo] Lo 3 S #40] dro] 1

AN

FA10] 9 o,
£¢ ooz,

ety ju




6.

@ 1lcm @ 2cm ® 3cm @ 4cm ® 5cm



theat 20 DE // BC € ), y—x 9 &

©9

Lo

® 5.35 @ 6.35 ® 7.35
@ 8.35 ® 9.35




8.

ZAL9] 2 7

O o] A=
73"!_ =

@ 6 71A]
@ 9 71A]

?_

FA B 1, ok o
sh?

@ 7744

® 10714

@ 8 7HA|



0,1,2,3,4 2 &A7F A7 572 7EE FollA 372 EobA] vt

ol Al A o] A4k mE B A4A Q1% Tatolat,

a Ck- 7}



o

o



11. o8 I8 1 2ol AABCOA d 0% ¢JAlolth. /OAC = 35°,
/OCB =30°Y o}, zx o] Z+& F5loat.

A




12, thg 2ol A 1 429 ABC o Yol

Z0]7} 2cm o]tk AABC = 25cm? 9 uf,
Zolg fotoleth. (&, Tl Attt

A

2¢

a
Z

Y715

=

=

€]



13. o8 A7+ ABCD %014 BaApagel AL9

D AB = 5cm , BC = 5cm , CD = 5cm
@ /A =100°, /B = 80°, .C=8°

® OA =4cm , OB = 6cm , OC = 6¢cm , OD = 4cm (H, HO
E 5 ozl 23)
@ ABLAD, BCLCD

® AB//DC, AB = 3cm , DC = 3cm



14.

Hol7} 56 <1 HPAPAY ABCD oA & O 7}
T iAol wdd o, AAOB £} AOCD ¢
yo]9] & Lotofzt,

T



15.

th2 oA H O & AABC 9] 40|t} /BOC = 100° & o, /A
o] 275 Fstoizt.

A

100°




16. o= 194 BD
Aol s s

cm

L
=
[

cm

g ©

L
-
Il



& =5t 0ABCD FollA] AR E S

ol

® zA =50°, /B =130°, £C = 50°
® AB = 5cm, BC = 5¢cm, DC = 7em, AD = 7em
@ AB =DC, AD = BC

® AB =BC, ACLBD

A

tlo
n

=

[



18. o33} Zo] AB ¢ PQ ¢ DC 7} ¥ystar,
AB=18,PQ =124 o, x o] &2

O 24 @ 30 ® 36
@ 42 ® 48




19. o2 I8 H G = aAABC o] FAIFA 0]
t}. AABC 9] Yol7} 30cm? € 4, oFBDG
o] gol=?
® 9cm? @ 10cm? @ 11cm?

@ 12cm? ® 13cm?




20.

Aol SEFo] ALL £ 4m
ol 7 2 Gef Q= LHRE Ago] 1]
HEgrt. ALoA A Q= 2717 . dl,sm
o] Az 7} 2m , A4019] 717} L6m g

o ), L}5o] o]

-

“~-4m--" “2m

D 2m @ 3.2m ® 4m @ 4.5m ® 6m



